COUNTY/SCHOOL	(1) 2005-2 TENTA PER D RAT	006 TIVE IEM	(2) 2004-2005 ENROLLED DAYS	(3) 2005-2006 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2003-2004 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
ATLANTIC COUNTY					
Y.A.L.E. School East	184.9	93	210	38,836	4.51
BERGEN COUNTY Alpine Learning Group	343.	22	210	72,224	16.70
Bergen Center for Child Development	192.		201	38,592	3.87
Community School of Bergen (High School)	204.		180	36,850	0.00
Community School of Bergen (Lower School)	155.		180	27,933	(0.24)
David Gregory School (E			210	41,619	0.00
ECLC of New Jersey (Ho-Ho-Kus Campus)	170. 170.		200	34,043	5.64
Educational Partnership for Instructing Children	364.		212	77,223	29.50
Felician School for Exceptional Children	150.9		180	27,168	0.00
Forum School	193.		198	38,334	0.00
High Point School of Bergen Co. (High Roads of Englewood			180	31,342	(4.58)
Holmstead School	193.		180	34,901	0.00
Institute for Educational Achievement	367.		208	76,373	0.00
JCC on the Palisades (Therapeutic Nursery)	404.		210	85,036	15.55
Learning Center for Exceptional Children (D			210	44,694	0.00
Palisades Learning Center	196.	32	180	35,427	0.00
Reed Academy	(A))	(A)	(A)	N/A
The Children's Therapy Center (CP of Bergen County)	224.	97	210	47,244	(0.85)
YCS Fort Lee Education Center (D	202.	59	180	36,484	(1.45)
YCS George Washington School (E)) 196.	12	180	35,301	(2.20)
YCS Sawtelle Annex Fair Lawn (L	(C))	(C)	(C)	32.50
YCS Sawtelle Annex Paramus	224.	20	199	44,616	27.96
YCS Sawtelle Annex Paramus III	226.	91	180	40,844	N/A
YCS Sawtelle Learning Center Park Ridge	208.)2	199	41,397	(23.73)
YCS Sawtelle Annex Ridgewood	320.	74	199	63,827	71.25
BURLINGTON COUNTY					
Children's Home of Burlington Co. (M. Dobbins Sch.)	284.		210	59,826	0.00
Garfield Park (Therapeutic Learning Center)	184.		210	38,812	0.00
Githens Center (Burlington County C.P. Association)	214.		210	45,076	8.25
Hampton Academy	230.9		180	41,567	41.43
Kingsway Learning Center - Secondary	243.		210	51,214	20.28
Midway School (E			210	28,383	(6.08)
Y.A.L.E. School North (Medford Lakes Campus)	214.:	30	180	38,575	2.13

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due

COUNTY/SCHOOL		(1) 2005-2006 TENTATIVE PER DIEM RATES	(2) 2004-2005 ENROLLED DAYS	(3) 2005-2006 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2003-2004 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
CAMDEN COUNTY					_
Archway Programs - Atco	(D)	169.80	215	36,508	(3.30)
Archway Programs (Challenge Alternative School)	(D)	153.41	215	32,983	(13.25)
Bancroft Preschool - Haddon Heights		249.12	212	52,813	(B)
Bancroft School - Haddonfield Education		166.34	212	35,263	(B)
Bancroft School at Voorhees Pediatric Facility		195.30	213	41,599	(B)
Brookfield Academy (Alternative School)	(D)	204.86	210	43,020	8.15
Brookfield Elementary School	(D)	210.04	210	44,108	15.64
Brookfield Transition to College		184.85	180	33,274	15.18
Cerebral Palsy School and Treatment Center	(D)	194.02	210	40,744	(7.87)
Juvenile Resource Center (Alternative School)		156.67	204	31,961	0.00
Kingsway Learning Center		189.36	210	39,765	0.00
	(D)	171.69	210	36,055	3.58
Y.A.L.E. School (Cherry Hill Campus)	(D)	187.33	210	39,340	3.03
	(D)	247.60	210	51,996	1.69
YCS Virginia Sawtelle Learning Center - South	(D)	321.36	199	63,951	49.29
CUMBERLAND COUNTY					
Creative Achievement Academy (Grape Street)		167.91	210	35,262	5.19
Creative Achievement Academy (West Street)	(D)	163.53	180	29,435	3.21
Creative Achievement Academy (Wood Street)		167.82	180	30,207	5.50
Devereux New Jersey Center for Autism		208.67	213	44,447	(35.79)
Downe Academy	-	281.61	180	50,690	0.00
Pineland Learning Center		196.42	210	41,249	6.43
ESSEX COUNTY					
1st Cerebral Palsy of NJ (CPC of Essex and West Hudson))	243.26	210	51,084	14.11
All Can Excel Academy		128.23	210	26,928	(B)
ARC - Essex County (Stepping Stones)	(D)	183.23	204	37,379	(4.70)
Banyan School		158.07	196	30,981	0.00
Child Development Center		202.99	180	36,537	9.82
Children's Institute	(D)	218.38	200	43,675	0.00
Deron School of New Jersey - II		197.73	210	41,523	0.11
Essex Valley School		189.83	180	34,169	0.59
Glenview Academy	(D)	230.35	210	48,373	23.10
Gramon School	(D)	218.90	210	45,969	13.29
Hineni School		(C)	(C)	(C)	(B)
Horizon School (Cerebral Palsy of North Jersey)	(D)	240.83	210	50,574	10.24
Lakeside School	(D)	230.74	210	48,455	(1.63)
Milton School		145.86	180	26,255	11.82
Mount Carmel Guild Preschool		254.17	210	53,376	11.79
Mount Carmel Guild School		283.49	180	51,029	20.39

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due

COUNTY/SCHOOL		(1) 2005-2006 TENTATIVE PER DIEM RATES	(2) 2004-2005 ENROLLED DAYS	(3) 2005-2006 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2003-2004 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
ESSEX COUNTY (cont'd)					
New Beginnings	(D)	282.47	210	59,318	23.86
Northwest Essex Community Healthcare Network	_	242.79	199	48,315	5.00
Phoenix Center	(D)	236.92	198	46,910	0.00
St. Patrick's Special Education School	_	283.28	180	50,991	20.61
Washington Academy		188.36	180	33,905	0.00
YCS Virginia Sawtelle Learning Center (Montclair)	(D)	287.54	199	57,220	47.25
GLOUCESTER COUNTY					
Archbishop Damiano School		160.97	211	33,964	0.00
Archway Programs - Washington Township		145.34	215	31,248	3.95
Bancroft School at Grenloch (Washington Township)		(C)	(C)	(C)	(B)
CPC of Gloucester and Salem Counties	(D)	222.02	210	46,623	5.00
Creative Achievement Academy (Lake Road)		158.92	180	28,606	4.77
Durand Academy	(D)	191.66	210	40,249	16.09
Y.A.L.E. School (Williamstown Campus)		181.28	180	32,630	2.27
HUDSON COUNTY					
Mount Carmel Guild High School (St. Anthony's & St. Leo's merging into this school 7/1/2005)		263.09	180	47,356	N/A
North Hudson Academy	-	162.05	180	29,169	(0.54)
St. Anthony's Special Education School		(C)	(C)	(C)	(11.51)
St. Joseph's School for the Blind		356.61	200	71,323	0.00
St. Leo's Center		(C)	(C)	(C)	20.04
YCS, Ernest M. May Academy	(D)	233.12	180	41,962	21.35
YCS, Kearney Annex Program	(D)	258.94	199	51,529	20.96
HUNTERDON COUNTY					
Hunterdon Learning Center		183.32	180	32,998	0.00
Spring Run School		135.63	210	28,483	(4.07)
MERCER COUNTY					
Children's Day School (Family Guidance Center)		176.78	210	37,123	0.00
Delaware Valley School for Exceptional Children		226.05	180	40,690	0.00
Eden Institute	(D)	240.93	230	55,414	(7.52)
Lighthouse Academy		163.76	180	29,477	N/A
Newgrange School		209.61	210	44,017	16.21
Princeton Child Development Institute		379.11	209	79,233	0.00
Sister Georgine School	(D)	176.96	180	31,853	(3.46)
The Bridge Academy		203.07	180	36,553	16.61
Titusville Academy		175.42	180	31,576	4.03

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due

(4)

(3)

				(3)	(4)
		(1)		2005-2006	2003-2004
		2005-2006	(2)	PROJECTED	PRELIMINARY
		TENTATIVE	2004-2005	SCHOOL YEAR	PER DIEM
		PER DIEM	ENROLLED	TUITION	(OVER)UNDER
COUNTY/SCHOOL		RATES	DAYS	RATES	CHARGES
MIDDLESEX COUNTY					
Center School		209.55	180	37,719	0.00
Gateway School		198.18	210	41,617	3.56
High Road Lower School		155.35	210	32,623	(B)
Lakeview School (C.P. Association of Middlesex Co.)		310.53	210	65,212	0.00
Newmark High School		220.86	180	39,755	0.00
You and Me School (JFK Medical Center)		252.18	213	53,714	0.00
MONMOUTH COUNTY					
ARC - Dorothy B. Hersh High School		214.18	210	44,977	(29.23)
Children's Center of Monmouth County	(D)	218.26	214	46,707	(0.35)
Coastal Learning Center - North (Morganville)		199.12	210	41,815	4.59
Coastal Learning Center - South (Howell)		204.96	210	43,042	2.07
Collier High School		217.46	180	39,143	0.00
CPC Behavior Healthcare (High Point)		312.32	204	63,714	6.28
Harbor School		198.60	210	41,705	2.44
Oakwood School		194.54	180	35,017	0.00
Rugby School	_	268.85	210	56,458	0.00
School for Children	(D)	211.66	210	44,449	9.23
Schroth School (Ladacin Netowork Inc.)		204.51	223	45,606	2.25
SEARCH Day Program	•	232.76	219	50,975	7.78
Woodcliff Academy		175.36	216	37,877	(17.64)
MORRIS COUNTY					
Allegro School		330.17	210	69,335	0.00
Calais School		180.10	200	36,020	14.80
Chancellor Academy I		236.48	180	42,567	22.76
Chancellor Academy II	(D)	226.50	201	45,527	16.24
Day Top Preparatory School		150.04	180	27,008	10.68
ECLC of New Jersey (Chatham Campus)		158.65	200	31,731	2.41
Montgomery Academy		213.37	180	38,407	0.00
P. G. Chambers School (Children's Center for Therapy and Learning)		258.75	210	54,338	0.00
Shephard Academy (Windsor Development Center)		212.34	180	38,221	0.00
Shephard High School (Windsor High School)		210.94	180	37,969	0.00
Silephard High School (Wildsol High School)		210.94	160	37,909	0.00

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due

PRIVATE SCHOOLS FOR THE DISABLED TENTATIVE TUITION RATES 2005-2006

8

COUNTY/SCHOOL	(1) 2005-2006 TENTATIVE PER DIEM RATES	(2) 2004-2005 ENROLLED DAYS	(3) 2005-2006 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2003-2004 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
OCEAN COUNTY				
Alpha School	208.99	210	43,887	3.18
Coastal Learning Center (Little Egg Harbor)	200.40	210	42,083	0.00
Coastal Learning Center (Tuckerton)	197.15	210	41,401	2.80
High Road School of Ocean County	180.30	210	37,862	(B)
Lehmann School (Ladacin Network, Inc.)	229.57	223	51,195	17.50
Ocean Academy (Ocean Mental Health Services)	201.55	210	42,326	1.67
School for Children with Hidden Intelligence (D)	253.07	210	53,144	72.32
The Education Academy	173.23	210	36,379	0.00
PASSAIC COUNTY				
Benway School	212.57	180	38,263	0.00
Clearview School	188.24	180	33,883	20.98
Community School (Family Connections) (D)	176.37	210	37,037	(0.87)
Lakeview Learning Center	204.43	180	36,798	4.64
Mount St. Joseph Children's Center	224.27	210	47,098	0.00
New Beginnings Annex (D)	212.76	180	38,297	18.16
Passaic County Elks - CPC (D)	263.04	201	52,871	17.24
Passaic County Elks - CPC (High School Annex) (D)	249.26	201	50,102	(5.02)
Windsor Academy	221.31	183	40,501	0.00
Windsor Learning Center	225.37	210	47,328	0.00
Windsor Preparatory High School	227.95	183	41,715	0.00
Windsor School	215.67	180	38,821	0.00
SALEM COUNTY				
Strang School (Ranch Hope for Boys)	173.98	210	36,535	6.46
SOMERSET COUNTY				
Bonnie Brae School	382.81	180	68,906	13.52
East Mountain School (Carrier Foundation) (D)	231.91	210	48,701	(0.22)
Green Brook Academy	217.88	180	39,219	14.26
High Road Upper School	162.64	180	29,275	(B)
Jerry Davis Early Childhood Center	187.14	212	39,674	(B)
Lord Stirling School	293.43	210	61,621	5.02
Matheny School	362.41	221	80,092	0.00
McAuley School (D)	214.60	210	45,065	18.00
Midland School	181.28	210	38,069	5.65
Rock Brook School	188.14	210	39,510	0.00
Somerset Hills Learning Institute	504.68	208	104,974	0.00
Somerset Hills School	361.38	213	76,973	49.44

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due

		(1) 2005-2006 TENTATIVE PER DIEM	(2) 2004-2005 ENROLLED	(3) 2005-2006 PROJECTED SCHOOL YEAR TUITION	(4) 2003-2004 PRELIMINARY PER DIEM (OVER)UNDER
COUNTY/SCHOOL		RATES	DAYS	RATES	CHARGES
SUSSEX COUNTY					
Celebrate the Children		375.70	180	67,626	105.13
Lakeland-Andover School		212.22	180	38,200	10.64
Willowglen Academy - Newton		217.67	210	45,711	0.00
Willowglen Academy - Sparta		217.67	210	45,711	0.00
•	(D) (D)	215.01 206.94 307.68 331.90 217.65 207.75	225 210 210 210 210 220	48,376 43,458 64,613 69,698 47,884 37,395	2.96 20.60 8.79 29.95 16.01 0.00
Summit Speech School (F.M. Kirby Center)		289.92	210	60,883	0.00
The Little Schoolhouse Victory School		(C) 192.42	(C) 182	(C) 35,021	22.60 (23.60)
WARREN COUNTY Stepping Stone School	(D)	187.40	210	39,354	10.88

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2005-2006

⁽D)Extraordinary Services - districts must contact private schools for amount due